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There are four choices for answer (A, B, C, D) to each question. Choose the correct answer (one only)
for each question and mark it on the Optical Response Sheet (ORS).

Questions have been set in English and Hindj, in case of discrepancy, the English version will prevail.
Read the instructions given in the ORS sheet carefully.

Use a Black pen only, otherwise, the ORS Sheet will not be evaluated.

Candidate must write his/her Name, Roll No., Date of Examination, and sign on the ORS Sheet.

The candidate should check that the booklet does not have any unprinted or torn or missing page/s
or question/s etc. If so, get it replaced with another question paper.

While marking your answer on the ORS Sheet, fully darken the circle.

One (1) mark will be awarded for each correct answer and minus one by three (-1/3) mark for each
incorrect answer. The unanswered questions will not attract negative marks.

Return the ORS Sheet to the invigilator after the examination is over.

Candidate is allowed to take away question paper after the examination.

Mobile, Electronic Watch and other Electronic Gadgets are prohibited in the examination.

Use of Unfair Means in Examination will lead to cancellation of candidature.
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General Section - 30 Questions

Each question carries 1 mark

Id e T F13F ¢

Q.1 She felt ill and wanted to ____ down.

A. lay B. laid
C. lie D. let

Q.2  Which of the following sentences is grammatically correct?

A. The student, who is limping; had a broken leg last summer.
B. The student who is limping, had a broken leg last summer.
C. The student who is limping had a broken leg last summer.

D. The student, who is limping, had a broken leg last summer.

Q.3 CUP:LIP:BIRD:?
A. BUSH B. GRASS
C. FOREST D. BEAK

Spot the errors in the sentences to make them correct (Q. 4- Q. 5).

Q.4  The principal, along with his staff, are attending the seminar on Artificial Intelligence.

A. The principal

B. along with his staff
C. are attending
D. the seminar

Q.5 Heis one of those writers who has influenced me a lot.

A. He is one

B. of those writers

C. who has

D. influenced me a lot

Q.6  Out of the four alternatives given below, choose the word opposite of ‘ADULTERATE:
A. Contaminate B. Wash

C. Stain D. Purify
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Q.7

Q.8

Q.9

Q.10

Q.11

Choose the correct indirect speech conversion: He said, “I am busy.”

A. He said that he is busy.
B. He said that he was busy.
C. He told that he was busy.
D. He said he will be busy.

Choose the synonym of ‘metamorphosis’.

A. Transfusion B. Translocation

C. Translation D. Transformation

If + mean ‘+’, - means ‘+’, x means ‘-‘ and + means ‘x’, then what will be the value of the
following expression as, 18+6-27+3x12=?

afe + & HY - I xHm HY AR <@/ HY ) g A Aeafaf@a e

T AT FAT g4, 18+6-27+3x12=?
A. 92 B. 105
C. 95 D. 107

If x =3 -2v2, then (x2 +$) is equal to:
e x=3-2v2, @ (2 +— ) WK &
X

A. 32 B. 34

C. 38 D. 30

10 men can finish a piece of work in 10 days, whereas it takes 12 women to finish itin 10
days. If 15 men and 6 women undertake to complete the work. How many days will they

take to complete it?
10 g9 forell T 1 10 foef & QX Y Tohdl &, STafeh 12 Afgemd 33l S &1 10
et & qu oeelr &1 afe 15 qow 3R 6 AT 38 HH H U FA &1 3T 33

g, dl 376 39 QU el A fohclel f&eT o
A 2 B. 4
C. 5 D. 11
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Q.12

Q.13

Q.14

Q.15

What is the maximum number of points of intersection of 10 circles?
10 gat & gfdese fowgait $r ifterds Tear #ar &2

A 45 B. 90
135 D. 180

The sum of seven numbers is 235. The average of the first three is 23 and that of the last

three is 42. The fourth number is:

ITd GEIT3T T AT 23581 Tgell el o1 3aa 23§ 3R 3ifaq e &1 3iaa 42
g1 e g §:

A 30 B. 35

C. 65 D. 40

Select the option that is related to the third term in the same way as the second term is

related to the first term. 24:102::16:?

39 fAhed &1 TI HIGFT S AW gg F 38 TR T § 59 TR g8 9
Jgel UG O Iefad gl 24:102:16:?

A 56 B. 68
C. 60 D. 64

A candle of height 10 cm burns at the rate of 2 cm/hr initially. After it has burnt 20%, the
rate increases to 3 cm/hr. Then, after it has burnt 50%, the rate of burning changes again
such that it takes 2 hours for the remaining candle to burn up completely, then what is

the overall average rate at which candle gets burnt?

10 A 1S dTel Toh HIAT Y& # 2 GeA/Eer &1 T & Soldl g1 20% STolel
d1G, I8 &3 dgdhl 3 THA/EeT g Sidr gl T, 50% STelel & 96, STelel &l &3 o &
geel S g s o g8 Alee F QU Re § ol H 28 9§ e
A A & SToer $r 3T e w7

A. 2.4 cm/hr B. 2.5 cm/hr

C. 2.6 cm/hr D. 2.7 cm/hr
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Q.16

Q.17

Q.18

Q.19

Q.20

How many prime numbers are there that are less than 30 and can be represented both as

a sum and a difference of two primes?

T farcell 3roeT HEal € S 30 ) @A § 3R 3¢ ar ey HEArst & aer
3R AR S & & FH AT ST Hehell 87

A. 1 B. 2

C. 3 D. 0

When my parents married their age was in a ratio 11 : 10 (father’s age : mother’s age).
This year they celebrated 15t anniversary. If the total of their ages at their silver jubilee
anniversary will be 113, find my father’s age now.
mﬁ%m—ﬁmﬁ%nﬁg@%ﬁ,aﬁmmww11:10(1%|?|T£r3ﬂ'§: AT
Hr 31g) ATl 5H A Iegie 15d1 a¥ers FAS| IS 3N o S afans W
3eTehT 3G T TeT 113 rem, ot A AT &1 adAT= 3Mg AT AT

A. 40 years B. 33 years

C. 48 years D. 42 years

Which scheme is for the empowerment of adolescent girls?

PRt & gufFastor & T g @ araar g7

A. PMAY (fITHTars) B. Annapurna (3fe=TqUIT)
C. SABLA (eelT) D. UJJWALA 2.0 (355deT 2.0)

Kanha and Bandhavgarh are famous for:
Fleel 3R Sruaere fhas fow gidey &

A. Lions (2R) B. Tigers (dT€)

Leopards (ﬁgﬁ’)

<

C. Elephants (gT2)

Which institution has developed a water-repellent, conductive textile that converts
electricity and sunlight into heat?

o FEUTe & SioT-Taehyeh, geereh HusT f[Afad fhar & St fastel 3R g & sehrer
 FvAT H aRkafda war &2

A. IIT Guwahati (IIT J[aTeTeY) B. IIT Bombay (IIT ST&s)

C. IIT Madras (IIT #HgIH) D. IIT Roorkee (IIT )
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Q.21

Q.22

Q.23

Q.24

Q.25

Who introduced the Permanent Settlement system (or Zamindari system)?

TYRT SelaEd YUl (I7 STHCRT JuTel) fohds & i
A Curzon (FoieT) B. Wellesley (deiEell)
C. Cornwallis (Flraiierd) D. Dalhousie (3eTglsi)

If the Marginal Propensity to Save (MPS) in an economy is 0.2. What is the tax multiplier?

gfe fonelt srdegaear & @A aud ygia (TANTH 0.2) 8, ST [0k F47 gram?
A 5 B. -5
c. 4 D. -4

Arrange the following Magadha dynasties in the chronological order:
fAFaAfaf@a Harer AT FT FTAIHAS HH H FARIT

(i) Nandas (ArE)
(i) Sisunagas (ﬁﬁm
(iii)  Mauryas (?Fﬁﬁ')

(iv) Haryankas (E’«’fiEFI')
Choose the answer from the codes given below (A f&T 1T &8 & 3 ﬂoﬁ):
A. ii, iii, ivand i B. iv, ii, i and iii

C. iv, iii, ii and i D. ii, i, iv and iii

How many schedules are there in the Indian Constitution?
HRAT HiGUTeT & fohefsll eTeiear 82
A. 11 B. 13

C. 12 D. 14

How many members are nominated to Rajya Sabha?

TT AT A fohcdel TETT Aleld gid 87
A 15 B. 14

C. 12 D. 10
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Q.26

Q.27

Q.28

Q.29

Q.30

What is the short cut key to ‘replace a data’ with another in sheet of MS word document?
THTH I3 Slegic H1 M H ST A g@ W deell & [T A FHe ol 41 87
A. Ctrl + R B. Ctrl + H

C. Ctrl + Shift + R D. Ctrl + X

The MAC address of a device refers to:

fordr fSars® &1 MAC UaT e & TefAd aar &

A The IP address of a device (fSargq &1 1P Iam)

B. The subnet mask of a device (f3arsa T Tac AH)
C. The gateway address of a device (fearsd & dica g

D. The physical address of a device (Basa &1 #Hifas qdT)

Which of the following is not What-If analysis tool in MS Excel?

fArfaf@a & & =l @ tATH THhAe # SgIe-8% (What-If) TATTAITAE Tl o181 87

A. Goal Seek (3Tl Hreh) B. Scenarios (FA=1aM)
C. Macros (HshIoT) D. Solver (&TedR)

Which protocol is used for websites?

JeaTsel & fov forg icieplar &T 39T R ST &7
A FTP B. SMTP
C. HTTP D. IP

Bluetooth is an example of

Solcy $T U 3ETEI0T g

a\

A personal area network (THTel TRAT Acae)
B. local area network GIELCRYEEIIGEED

C. virtual private network (3313-1'6[ gIsde cash)
D. wide area network (3155 TRAT cas)
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Post Related Section: 20 Questions

Each question carries 1 mark

UAF Yo F13F 7

Q.31 An electric bulb of 500 watts and 100 volts is used in a circuit having a 200 V supply.
Calculate the resistance R to be connected in series with the bulb so that the power

delivered by the bulb is 500 W.

500 dre 3R 100 dlee & Uk faegd ded 200 V 3MYfd arel Teh aRay & 3o
fFar ST &1 Jed & @Y SvfiH F ST e gt gfaer R$T 0 HY, dife
dod GaRT Yald &I g AfFd 500 W Tl

A. 5Q B. 10 Q

C. 20Q D. 30Q

Q.32 Whatis the correct magnitude of the sum of the vectors (a, b and c) as given below?

A e arw FfEel (a, b 3R o) F T FT TG aRATOT FIAT B?

a=(42m)i-(1.5m)j,b=(-1.6 m)i+ (2.9 m)j and c = (-3.7 m)j

A. 2.8m B. 29m

C. 3.5m D. 3.9m

Q.33 A battery is connected between two points A and B on the circumference of a uniform
conducting ring of radius r and resistance R. One of the arcs AB of the ring subtends an
angle 0 at the centre. The value of the magnetic induction at the centre due to the current

in the ring is:

fear r 3 9foy Rl AT e ger fr aRf o a [Nigit AR BE
mwmaﬁ’@é%lmaﬁrwmméﬁwemm%lmﬁqﬁ@a
URT & HROT S, T YhIF IROT HT AT g

A. Proportional to 2(180%-0)  (2(180°- 6) & HHTIIT(cIh)
B. Inversely proportionaltor  (re Eﬂmﬂm?ﬂ')

C. Zero, only if 6=180° (T, dhael T8l ST 6=180°)
D. Zero for all values of 6 (0% T A F forw )
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Q.34

Q.35

Q.36

Q.37

Q.38

Two charges of equal magnitude and opposite nature (Q and -Q) are placed in an uniform
electric field, separated by a distance d. The torque for such a system is represented
by

AT qRACT 3R A b (Q3HR -Q) & &Y MRt A veh HART faegd & &

@I ST &, 51 d gl @ 37efer gl &1 TH WUTTell & foIT cieh (Fellgul) &l garT
g ST & |

A. Tt=p/E B. T=pxE

C. T=p/(2E) D. T = px(2E)

Which electromagnetic wave has the highest frequency?

o faegd gFaehd oleT dr 3Mgfd Fed i gl 82

A. Radio (Xf33T) B. Microwaves (FTSshIdcH)
C. Gamma rays (3T 0N D. UV rays (ZdT o)

Ratio of thermal energy released in two resistor R and 3R connected in parallel in an

electric circuit is:

T fegd TRIY A FAER HA A 53 & s RIAR RF FFa adg Foit

FT I &
A. 1:1 B. 1:3
C. 3:1 D. 9:1

Which of the following atom has the lowest ionization potential?

fArfaf@d & @ fFg @A) @1 T 93T qead w87

A. Na B. K
C. Rb D. Cs
dil. H,SO, _ .
HC=CH + H,O Where, P is a/an (STgl, P T& §):
HgSO,
A. Ketone B. Alkane
C. Aldehyde D. Alkene
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Q.39 At what temp the Celsius and Fahrenheit scale are the same?

fre arIAT R Afead 3R BRegse A AT gid 87

A. -32 B. -273

C. -9 -40
Q.40 The correct order of atomic size is:

UIATY] TR T T A 8

A. Na < Mg < Al Na > Mg > Al

C. Al > Mg > Na Na <Al <Mg
Q.41 The expression tand L4 anbe written as:

1-cotA 1-tanA

W’ tan A cotA e Eorg ﬁ_@T T &

© 2l 1-cotA  1-tanA Sl ot %

A. tan A + cotA sinAcosA+1

C. secAcosecA+1 sec A + cosec A
Q.42 The mean of the following data is: (feafaf@a 3fTesr 1 3itaa §:):

xi 5 7 9 10 12 15
Fi 8 6 2 2 2 6
A. 8 9
C. 10 12
0 2qg r
Q.43 Matrix(A)=|p ¢q —r]
p —q T

If AAT = I35, then |p| is equal to: (T AAT= I35, AT |p| SRS &2)

A. 1/V2 B. 1/V3

C. 1/V5 D. 1/V6
Q.44 Ifay a; as ... are in arithmetic progression (AP) such that a; + a; + a;4 = 40, then the

sum of the first 15 terms of AP is:

?T%allazlag ....WW(AP)ﬁ%ﬂW%ﬁ?al +a; + a6 = 408, A AP & UUH 15

A. 280 B. 200
C. 150 D. 120
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Q.45

Q.46

Q.47

Q.48

Q. 49

Q.50

If « and B are the zeros of a quadratic polynomial f(x) = 2x%—p(x + 1) + 16,
then (@ + 1)(B + 1) is equal to:

R « IR B wH EfdEd sgUe f(x) =2x2-p(x+1)+16 F LeIh § o
(@ + DB +1) TR &

A. 6 B. 8
C. 9 D. 12

What type of transmission is involved in communication between a computer and a

keyboard?
HYR AR BlalS & oI TR H f5g UbR o1 it i gidr

A Half-duplex (8Th-g&id¥) B. Simplex (Ri@ia)
C. Full-duplex ('Ep_c'f—g@ﬁﬁ) D. Automatic (&ﬁm

Which data structure operates on a First-In, First-Out (FIFO) principle?

el AT 3T TIGAT HEc-3of, HEC-3T3C (FIFO) TAGHTT IR HIH Fcil g7

A. Stack (¥¢ah) B. Binary Tree (ST3+13T ¢)
C. Queue (F) D. Linked List (foflgg fore)

Which of the following types of memory is volatile, meaning, it loses its data when power

is turned off?

afaf@a & @ Fia @ a9 3R § 3119, 9ol §¢ 819 9T Ig 319« 3T @r
St &7

A. Hard disk B. ROM (Read-Only Memory)

C. Solid-state drive D. RAM (Random Access Memory)
DNS is used to:

DNS &T 393191 et & forw fonam S &

A. Block viruses (I HT sclich )

B. Translate domain names (31T ATAT BT JeldTc She)

C. Speed up CPU (CPU &1 a1 Sgr=m)

D. Route network traffic directly (ﬁ??:lé? ¢fther &1 AT & H)

What is the binary equivalent of the decimal number 25?

CRIFSTT HEAT 25 T 3R AT FT &2
A 11011 B. 11001

C. 10101 D. 11100
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